Solving Word Problems – A Seven Step Approach
1)  Read the problem carefully

2)  Write a simpler version of the problem using words and operators

3)  Use a variable to represent one of the unknowns and all others in terms of that unknown

4)  Rewrite the equations using numbers and variables

5)  Solve the equation

6)  Check your answer by substituting it into the original equation

7)  Write your answer out using a complete sentence

  **    Example 1:  The sum of two number is 15.  Twice the smaller number is three less 

                            than the bigger number.  Find both numbers.

     Step 1)  Read Carefully
     Step 2)  big  +  small  =  15

                  twice small  =  big  -  1

     Step 3)  Let  big = b

                  Let small = 15 - b 

     Step 4)  2 ( 15  -  b )  =  b  -  3

     Step 5)  30  -  2 b  =  b  -  3

                 -30            =      -30
                        - 2 b   =  b  +  ( - 33 )

                         -   b   =  -b
                         - 3 b  =   - 33
                         - 3            - 3

                              b  =  11

     Step 5.5)  Small =  15 - b  =  15  -  11  =  4

     Step 6)   Does   11  +  4  =  15 ?

                      Yes, so this is a check.

     Step 7)   The bigger number is 11 and the smaller number is 15.

Example 2:  A student bought two books; one cost $3.85 more than the other.  If the total cost was $14.75, what was the cost of each book?

     Step 1)  Read Carefully!
     Step 2)  book one  +  book two  =  $14.75

     Step 3)  Let  book one  =  b

                   book two  =  b  +  $3.85

     Step 4)  b  +  ( b  +  $3.85 )  =  $14.75

     Step 5)  2 b  +  $3.85  =  $14.75

                            -$3.85  =  -$3.85
                   2 b                =  $10.90
                   2                           2

                      b                =  $5.45

     Step 5.5)  book two =  $5.45  +  $3.85  =  $9.30

     Step 6)  Does $9.30 +  $5.45  =  $14.75?

                       Yes, so this is a check.

     Step 7)  One book costs $5.45 and the other costs $9.30.

Word problems for you to solve.
1.  The sum of two numbers is 35.  One number is 5 more than the other number.  Find 

      both numbers.

2.  The cost of a new TV is $890.25.  This is twice the cost of a hi-fi VCR.  What is the 

     cost of a hi-fi VCR?

3.  The sum of two consecutive even numbers is 146.  What are the two numbers?  ( Hint:  

     Consecutive numbers increase by one each time and can be represented by x,  x + 1,         

     x + 2, etc.  Consecutive even or odd numbers increase by two and can be represented 

     by x,  x + 2,  x + 4,  x + 6, etc. )

4.  We  moved boxes for three days.  The second day we moved twice as many boxes as 

     the first day.  The third day we finished up and we moved five less than the first day.  If 

     we moved 27 boxes altogether, how many were moved on each day?

5.  A horse rancher has 890 board feet of lumber to make a fence.  The paddock that he 

     wants to fence is rectangular.  The length is 175 feet more than the width.  What is the 

     length and the width of the lot?

6.  A wooden dowel is to be cut into two lengths.  The original dowel is 9  5  inches long.  

                                                                                                                  16

     If one length needs to be  3   of an inch shorter than the other, how long will each piece

                                            16

     be?

7.  At the end of the 4-H concession sale, there was $117.25.  If all the change was in 

     quarters and dimes and there were equal amounts of quarters and dimes, how many 

     dimes were there?

8.  Ms. Boden stopped at the local espresso shop on her way to work.  She had two coffee 

     drinks of equal size.  One was 30(  caffeine and  the other was 25( caffeine.  If she 

     consumed 4.4 ounces of caffeine, how much other liquid did she consume?  

9.  In San Jose, the population break down for residents without children is 8.6( single 

     residents, 6.7( married residents, 5.85( children.  If the total number of residents 

     without children is 13,536, what is the population of San Jose?

*10.  Two bikers leave from the parking lot of Coe State Park and both take the Frog 

     Lake trail.  One biker averages 13.4 mph and the other 9.6 mph.  How long will it take 

     them to be 7.6 miles apart?  ( Hint:  The distance traveled by the faster biker minus 

     the distance traveled by the slower biker will equal the distance apart.)

11.  To pass the class you must get at least 70(,  if there are 2,180 points possible, at 

      least how many points must you get in order to pass the class?

12.  A brokerage firm says that for every 514 loans they write, 12 default.  What is the 

       percentage of default loans?

13.  A man buys a new TV at the Good Guys.  He pays $1,765.28.  What was the price    

       before taxes if tax is 8.25( ?

14.  The store announces that they are having a 50( off sale price sale.  Marge buys a 

       dress that is marked 30( off the original price which is $54.25.  How much does she 

       pay after both discounts are taken?  ( Hint:  It is not 80( off the original price which 

       is why stores announce sales this way!!)

15.  There are 75 nails to every screw in the wall of the house.  If I count 225 nails, how 

       many screws are there?

**  Some information contained within this document was referenced from Basic Mathematics:  A Review, Barker, Rogers and Van Dyke, 2nd Edition, HBJ, p.  289-294.





